= AH O
M = 0l &8 AF & H Al A
20119 20l A LEHSIH L JIEISEEH S0 ~ S0
2AMd: 52
M ZMEU= HdAHE 2E
el SaE dEMHIA XA (&2 &
_ _ - MEg
2N -3 - c2(3H) - NEME - HES 0] AFCH '@,‘;OH Hns
2 14,010,323 15,512,509 A 1,502,186
== 2,057
Al 14,008, 266
ddSEU= dEHE 2E 3,456,532 4,586,648 A1,130,116
== 2,057
Al 3,454,475
SEANE A MH|A XS 598,510 587,330 11,180
HEAHIA A XS 53,830 5,330 48,500
201 Et29h| 29,330 5,330 24,000
01 AtR22ldl 24,330 1,330 23,000
OMHHAMHIASE MOKAAG ENGY
700,000& 700
OHFHFESH Afds EA&Y
630,000& 630
O3RHAM= (X207 23,000,000& 23,000
02 S=294l 5,000 4,000 1,000
O&EX S XY 5,000,000& 5,000
203 YRF&| 24,500 0 24,500
03 AIMFERQRF=EIH| 24,500 0 24,500
OS2 ANHFAHRE=AH| 24,500,000 24,500
IE& JIEE 22l 392,080 427,200 A35,120
201 LBtIH| 84,080 94,800 ~10,720
01 AtR22ldl 4,280 15,000 A10,720
OJIE2HII+=£+2 £ JIE223|
4,000,000& 4,000
OJI=E=28Ita 3 &4 70,000& *4H 280
02 =323l 79,800 79,800 0
OsY 2R3 24,000,000& 24,000
OFXZMN & dzz gl
1,000,000& x12& 12,000
O&XZ M AP,DBAH % OracleRXE+&
1,750,000& =128 21,000
OoxzadZz 1y RAES=Z 350,000&*12& 4,200
OXZ22 OracleRXES2 400,000& x12& 4,800
OXtgzt & BHAMY SNBSS
1,150,000& x12& 13,800
202 04 H| 3,000 3,000 0
01 2LHHHI 3,000 3,000 0
OS2 ANALE 3,000,000& 3,000
207 AN 305,000 282,500 22,500
02 & AP EHH| 305,000 282,500 22,500




SN B2
o AMBEQE MRHE D3
ol SaE #HEAMHIA X AR
S HE - S(EH) - NRAY - BES sk oy S 2
0f 4 o
O=RIIES HL3 D/BRFAMY
180,000,000 180,000
O2LietAlad 2= 120,000, 000& 120,000
Oztd=2e T2 25 5,000,000& 5,000
LHs 29 12,000 12,000 0
201 Let2IH| 12,000 12,000 0
01 AtE22/H] 12,000 12,000 0
ogztal 24| 12,000,000& 12,000
A2 o 2] 136,600 138,800 22,200
201 et IH| 130,000 132,200 22,200
01 AtE22/Hl 106,400 108,600 A2,200
Ogx=d4 96,200
-2 & 50,000 x4 H+116 23,200
-=2 50,000 x4 H «365 73,000
OgXa2ad| 10,200
-5 MEZ 100, 000& x52== 5,200
-JIEH 24| 5,000, 000& 5,000
02 2zl 23,600 23,600 0
OBAROAGIAIAEY BAZ
1,400,000& x12& 16,800
OCCTVAIA Yl S X2 400,000 123 4,800
OXzZ NI RANE+ 2,000,000& 2,000
401 Al&HI YL SO 6,600 6,600 0
01 Al&H| 6,600 6,600 0
O2& FAECHAIAHY JIs2Z 6,600
-2 A2UAD| WA 1,200,000& *34! 3,600
- CCTVataict WAl 1,000,000 *3CH 3,000
o9 2Kz 4,000 4,000 0
202 O4Hl 4,000 4,000 0
01 =W 4,000 4,000 0
OERNELENHARFX 4,000,000& 4,000
THotE U o2z 364,280 1,431,233 A 1,086,953
=22 & I8 #HAXA 71,850 73,850 A 2,000
201 et 26,150 28,150 A2,000
01 AtS 22l 12,600 12,600 0
OH=21 & AJI=7L 7,000& *1,800H 12,600
03 A2 EH| 13,550 15,550 A2,000
OARIe & A} 9,550
-Al2Iel & ArIH 500,000& x5 2,500
-AIRIel & D1 E A 6,000, 000& 6,000
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fAM: SR
M WA s HAME 2
el XOHE o of2nel CEER-E)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
0 & 24
“AI2ISl & A PRE AT
1,050,000& 1,050
OAIS AL A 4,000,000& 4,000
202 (4Hl 4,800 4,800 0
01 =LA bl 4,800 4,800 0
(OFFSECS- 4,800,000& 4,800
203 RF4Hl 18,000 18,000 0
03 AHEFIHRFAH| 18,000 18,000 0
OF=Q A= 18,000,000& 18,000
301 LptEag 6,700 6,700 0
10 HAAHIZ &3 6,700 6,700 0
OAlRIel & D|gal dAXIR ¥ =5t SHE
5,800,000& 5,800
O3.12 & Z=Z2 AMEIA B4 900,000 900
307 GI2t0I A 16,200 16,200 0
05 RIRIRAE S 16,200 16,200 0
O&E=2H JI2J] A SI2te(&  16,200,000& 16,200
XSetd 2t 120,680 117,250 3,430
201 LEH2HH| 22,680 21,250 1,430
01 AtE22/Hl 22,680 21,250 1,430
OSFELAMX SEEHE(13]) 1,750,000& 1,750
OSsYsN=L2I &R EHIIS AL
500, 000& 500
OANBEERZE S22 S WA 200,000& x5H 1,000
EEHE ME 30,0003 x500H 15,000
OgUAIY 2 S HZ 130,000& 11 1,430
OANMALZ=E 282 &X 3,000, 000& 3,000
202 O4Hl 4,000 2,000 2,000
01 =Y 4,000 2,000 2,000
OUHIA & HI&UH HRFA 4,000,000& 4,000
203 ¥R =& 94,000 94,000 0
03 AZFIHRFAH| 94,000 94,000 0
OAIRl 2 Atz g5 =& 21,000, 000& 21,000
OXSetH =&l 16,000,000& 16,000
Ostg= 8,000, 000& 8,000
OXNZZH & WESEeFd 12,000,000& 12,000
Oz .22 /=2 28,000,000& 28,000
OFoIdlEt =3 Al 223 500,000& 8= 4,000
OAg&dziis ¥ HH2I& o4 5,000,000 5,000
FOO0E & g2 16,000 41,500 A 25,500




SN B2
HM: FMUE= HIBH P
Chel: XYooty 2 of22el (9l ® )
A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
202 O] 4,000 3,000 1,000
01 2o 4,000 3,000 1,000
FooELss2L 4,000,000 4,000
203 R FZXY| 12,000 38,500 26,500
03 AIZHZXIYRFZXIY 12,000 38,500 26,500
OFQAIBAIEFI0ESY 12,000,000 12,000
NS X 131,100 84,730 46,370
Bt AE 94,100 81,730 12,370
UHSLEie 29 89,100 81,730 7,370
OgYiEASAH| 100,000 140 CH =122 16,800
OZHHUNOFAIHl 2,000 1400 TH x4 »30L » 122 40,320
OgeaY 2 4,000
-S| HHE 2l 50,0002 * 1574 750
-EE BAFS 250,000 * 130K 3,250
Oxa ®IIQ2 5,880,000 5,880
O 1=l 13,100
2= 7,000,000 7,000
-gets 40,0002 x100& 4,000
-9 2,100,000 2,100
OB Al&22lH 2,000,0002 2,000
ORI IPA=2=IN]:] 7,000,000 7,000
BALAIH| B A2 5,000 0 5,000
OXsSgHia XA 5,000,000 5,000
QI2H0| & 3,000 3,000 0
QIZHHALE & 3,000 3,000 0
OXNsSgHd MsUal XA 3,000,0002 3,000
A& HI L2y 34,000 0 34,000
Al &l 34,000 0 34,000
OZ 4 2HEHEHl (LEDZHEH W)
2,000,000& *70 = 2 14,000
OZA01™ &Rl 20,000,000 * 14 & & 20,000
HAHANSR 22 1,000 1,062,732 A1,061,732
ety 1,000 1,000 0
01 AFR22/Hl 1,000 1,000 0
OFUSHIFPAOG &HA&4Z 1,000,000 1,000
CHRIXI & 23,650 25,000 A1,350
0I2H0| & 23,650 0 23,650
QIZEBHALE X 23,650 0 23,650
ORFEE X2 AR 23,650,000 23,650




SN SR
M WA s HAME 2
&t SRF FELE N (A :H2)
SN HB G (BH) - MRAY - BES Aro e Hlm= 2
2 dzrdst N& 965, 108 1,047,467 A 82,359
AR EER 2L 65,376 71,876 6,500
101 14| 32,736 32,736 0
04 JI2ZtHIZ22NHSES 32,736 32,736 0
OJI2tH 22 X250 01 &) EI X2
1,200,000& x5H 6,000
OBLEINSOIFER )X Uil 26,736
=g 33,4003 »2H 250 16,700
=54 33,4003 x2H x52== 3,474
-SRIt E 33,4003 x2H*12& 802
-Z U S A 80,0003 x2F 12& 1,920
-~ s 2 X 60,0003 x2F x12& 1,440
== 1,200,000& x2H 2,400
201 LBt 26,640 34,140 AT,500
01 AFR 22| 26,640 34,140 AT,500
oz ¢ g=% 3,000,000& 3,000
OQAMRIJE F&E 3,500,000 3,500
OANg=¥ 1,500,000& 1,500
OANEZH M=% 5,000,000& 5,000
O=glls SRS HH 10,000& *1000H 1,000
OSUAL2RA AE2sE 220,000& «12& 2,640
OLR g =2 10,000,000& 10,000
202 (4 HI 6,000 5,000 1,000
01 =LA b 6,000 5,000 1,000
O=x=Z& L CIMNHRFE 3,000,000& 3,000
OsdENE 3,000,000& 3,000
A s 266,300 293,300 A 32,000
201 Lete gyl 266,300 298,300 32,000
01 AFR 22| 266,300 298,300 232,000
O A WFH| 80,000, 000& 80,000
OSRAXNRNSH (LA, 33I|2)
180,000, 000& 180,000
OSRIAUES2I (N, 8% S)ZHI
3,000,000& 3,000
O32& Wgul < 3,300
PN RS 1,300,000& 1,300
R =S 1,000,000& 1,000
- A2 1,000,000& 1,000
323 A3Ad N 50,500 57,000 6,500
201 L2 H| 4,000 5,400 A 1,400
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B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
OFd=X2d ARFA 2,000,000 2,000
SR8 dE8H SXXJ 856,800 868,900 212,100
201 LBt H| 856,800 55,000 801,800
01 AtR2t2ldl 856,800 55,000 801,800
OZUUE THetERA S WS
1,000,000 *20Y 23] 40,000
OSRAEHE=ENHE 22 980,000 660X 646,800
02010d sRAHLMNBEBE (L)
5,000,000 5,000
O2011E B2A HNEREE 165,000,000& 165,000
SRENE B8 N 100,728 83,910 16,818
303 ZA= 100,728 83,910 16,818
01 ZA&3 100,728 83,910 16,818
O32& tH 252 XA 100,728
=0Al 191,500& *10E x 123 22,980
=1l 168,500& 118 » 123 22,242
=2Al 139,000 138 » 123 21,684
—3Al 95,5003 +x7H~12& 8,022
-BHN~Z=W FHEH 86,000& x25H «12& 25,800
=223 s XA 180,000 180,000 0
202 O4dl 180,000 180,000 0
03 =2 H20l 30,000 30,000 0
O32=20d 30,000,000 30,000
04 =Mt Hl 150,000 150,000 0
O32=20d 70,000,000& 70,000
OS2& ZAHH A 2,000,000& »40H 80,000
MEERS K= 50,000 0 50,000
307 212t01& 50,000 0 50,000
07 A=3X== 50,000 0 50,000
OMIEZRIS 2,000,000 *25H 50,000
FOIXXAE SeE23) 75,100 47,700 27,400
ANXHE s Y 2IXMEH ASHKIA 34,300 32,700 1,600
201 L2yl 22,500 20,900 1,600
01 AtR2t2ldl 12,500 10,900 1,600
OFUNXRA N2LAM =g S
800, 000& =63 4,800
Osotel 2Htisl ot JIEtE Sl
80,000 30 *x23| 4,800
O&= QXX So0t2l ZHUS &It SEH|
50,0003 30X 1,500




SH: B2
B FWAYE HTYY P
SHol: FOIRXIME A5 CEERED
_ _ HE T
SN - EH . S(3) - MRAY - BES P 0Ol At o8 HlmE 2
OXNZFURZ(ZH3 &It S)
70,0002 %23] 1,400
03 &A= HI 10,000 10,000 0
OFEUXNXE /3ASE 10,000,000& 10,000
202 O 2,000 2,000 0
01 WY 2,000 2,000 0
02+ FURIMH 28 S L=
2,000,000& 2,000
301 LA 9,800 9,800 0
10 AR HIE &= 9,800 9,800 0
OFOINA OIS 4 FOAKAME 28
3,000,000& 3,000
OIS Sot2l ZACHE &t
30,0003 30«22/ 1,800
OF= ZUNXME gsl S &I}
3,000, 000& 3,000
OFOUINAARC4 o 2YYI}IE D3
2,000,000& 2,000
FUXXHEH 220 43t 40,800 15,000 25,800
201 EH2HH| 25,800 0 25,800
03 HAH2SHI 25,800 0 25,800
OFOINAMEE SMAY K&
2,000, 000& *8H = 16,000
OZgoiF NIZBEN B225 DALY
9,800,000& 9,800
307 gI2tol & 15,000 15,000 0
04 DIZHHALE X 15,000 15,000 0
OFBXXEH &ZF ©HZ 15,000,000& 15,000
NOtS2s 843t =8 34,465 34,837 A372
S 2,057
Al 32,408
MOt X=X ws L ALK 27,850 27,850 0
201 Y2y 8,400 8,400 0
01 AtS2t2ibl 8,400 8,400 0
OMOtE |18 W=s34| 7,000,000& 7,000
OXY YXE(H2 MOISTETHHEEI}S)
700,000& ~2CH 1,400
301 YPrBA3 11,450 1,450 0
10 ALAHIE &= 11,450 11,450 0
OMOISU=4 Ol 35,000& *70 2,450
OMOISXIE X HEX 28t 5,000, 000%! 5,000
OFIMOLSXEA Hel &JF  3,000,0008 3,000




oF
R’

ok
ol

B

"+ K
zo KF

w0 11
K] X0
) w
JI Ho
03 0K
= & o
1 =
o R0 =

SN

2
o T
&l

e

n0

KIo

Bl w

N1,372
N1,372
N1,372
1,000
1,000
1,000
420
420

100

100

320

40

LH3r
m<l
Rk

5,487
5,487
5,487
37,271
37,211
2,000
2,000
30,271
16,671
3,450

=
o

s

<J

4,115
2,057
2,058
4,115
2,057
2,058
4,115
4,115
2,057
2,058
1,000
1,000
1,000
1,000
37,691
37,691
2,100
2,100
700
1,400
30,591
16,671
16,671
3,490
2,000

2|

=

o

3

3

3

2| %2

=

o
=]

]
4,115,000
1,000,000&

1 %102 +4

Xl
700,000& *1
700,000

416,760&

ljl.

=]

X

2

2|

=

INSPNE=

=PI

cltl

b

01 At

o o o o o

o [e] (@) (@) (@]

S| e D O|D

o) [e0) — — —
o o o o o o o o
o o o o (@) (@) [e] (]
S| |e oo |n o
— o o0 o — — — -
o o %
o (e} o
o o o
S = =
o o o
o [«] (e}
S S i}
— [e6) —
=)
Kk
R ok
= 1

ol

= | & ulo
= 440
<k 3l
=W 20
= | o
2 = bﬂu E]
= pd ol = o
) > =R = IS=]
Hr Al Z|IWH|T|T =
O =] O|lr || O

N~ @_E al —

R ol&|°

=

2,000,000&

or

CE RS RO

280

10,150
5,000

1,490
10,430
10,430

5,000

[mz]
=]

2 x149

=

70,000& 149X

10,000

t

12 JIEt

307 2120l &




SH: B

o]

ST
HE: A
X

Qe MEHE 7
ool SR ADINE CEEE-E)
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
04 OIZHHALE = 5,000 5,000 0
Os& XN=sUal M= 5,000, 000& 5,000
NESEUH =MD 68,375 47,700 20,675
fH= 249 55,375 37,700 17,675
iz stad 21,200 13,600 7,600
202 04| 1,200 1,200 0
01 Z2WdHYI 1,200 1,200 0
ONHIZEUHEE 2= 1,200,000& 1,200
308 AtXIEHHMI SOl 20,000 12,400 7,600
07 OiHIZESH4XJIZNEX 20,000 12,400 7,600
oudl=2 fUag X 20,000
-Adud=Z g5 3,000,000 =11 A CH 3,000
-MlHlZe Y AL 1,000,000& 1,000
-y Z2RUHSIE XA
100,000& * 8IH=[H+12& 9,600
-HZsl uE= HEPCHOH
800,000& *8JH = CH 6,400
olHl= 22ICHCH X1 34,175 24,100 10,075
403 NXISHHSA20l S 34,175 24,100 10,075
03 b2 X222 34,175 24,100 10,075
Oostedre XA 23,625
—gretglon 38,000& 20074 7,600
= A== s P 5,000& *200H 1,000
-+=&/1 13,5003 * 1504 2,025
-2 9 37,000 * 1504 5,550
-0k &/ T 37,500& * 100K 3,750
~SYUANNE I ET 250,000& 10K 2,500
-MAEAE XFZF 200,000& x6= 1,200
Olldl2 nssd Ad 10,550
-0l CIHEE 5,000& *200H 1,000
-~ BHOI E & H| = XYl 1,500,000& 1 1,500
-flHlZ RnEEHAE J|IIIE 200,000& =8CH 1,600
-S2MdX W2 204 400, 0003 =44 1,600
-A23= DS 204 20,000 x10& 200
~STMERE 20) 1,500,0002 * 1)l 1,500
~0lgI2 zol™E Mot gy
300, 000& =14 300
-4NMS = TVF0H 2,850,000& = 1CH 2,850
SAHSo WA S 13,000 10,000 3,000
sSXdHE WHAsS =8 13,000 10,000 3,000
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SN B
HE: XSEYS ATHD
Sl SRS LHAs (Sl &)
_ _ SIEN
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
201 Yer2 YY) 13,000 10,000 3,000
01 AR eIt 13,000 10,000 3,000
OSXeis HIA4ZRX 246 7,000,008 7,000
OSXes AB=4s 2 HEH 2,000,0008 2,000
OSXoisd Mo U MUY YXE
4,000,0002! 4,000
DESXNAL A5 3,078,436 2,034,801 1,043,635
BUS RO DRI BF 2,181,908 1,794,802 387, 106
QUESS DEXH 2,181,908 1,794,802 387, 106
201 Yer2 Y| 2,100 2,520 A420
01 ALR eIt 2,100 2,520 A420
ONSHIWLSLIAANS ALY
70,0002 102 *33] 2,100
202 01t 2,500 2,000 500
01 =2Uloibl 2,500 2,000 500
ORSTY %L HIZAD 2YYLEZ
2,500,0002! 2,500
308 XX SIS OIF 2,177,308 1,790,262 387,026
06 DEIIZOICHEZE2 2,177,308 1,790,282 387,026
OA & g Ared 786,700
-XEel ST, & 2% 32,000,009 37 9,000
-3 3E D 29 4,800,00021 %1074 2 48,000
~S4DS BXV XY 14,000,000 %30 1 42,000
~ZSHOAEME XS (4HR)
50,000, 00021 *47H 200,000
~AR2ED SIES X
10,000,000% *374 2 30,000
NVEESE I ED 21,300, 0002 21,300
-S54 HAE A
3,200,0002! +12% 38,400
~SSHYD 2EN 250,000,0002! 250,000
~SAA BZHAA (BIHR)  61,000,0008 61,000
ONSH HSEXAY 1,173,468
SHSE AY (M) 718,200, 000! 718,200
~HSDHBAHESHE) 143,472,002 143,472
“DSHEE HMAL(RBAE) 19,746,008 19,746
~EAB BENLAY(SEE) 36,087,008 36,087
Tl o) R (BR2 YA D)
34,590, 00021 34,590
G2 stEa T4 (SHEYE)
22,311,002 22,311
DA PITA EE(N®E) 111,965,008 111,965
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fA: SR
PSER J_I_._,:‘.__‘I|I|O_|O| L&l 3}

Sl BUSDO DSFH 2 (el &2
_ _ SIEN
SN EB -GS - MBAY - BES 01l &k o e HRE2
2T stiE £4(52D)
87,007, 0002 87,007
OPIITE ALY 217,140
~BUPNSD 2 XY 217,140,008 217,140
S DIAX 896,528 239,999 656,529
W34 X2 896,528 239,999 656,529
201 L2 1,400 1,680 280
01 ALR eIt 1,400 1,680 280
OB DIATRAISIANE ALY
70,0002 %102 %23 1,400
308 XX SIS OIF 895, 128 233,319 656,809
06 DEIIZOICHEZE2 895, 128 233,319 656,809
OFAEY, Y0l SAXA(NYSZASD)
184,481,002 184,481
ORABANR(ES8 D 1-65H)
710,647, 00024 710,647
BASSHH 2 62,880 155,380 £92,500
HYDEX 62,880 155,380 £92,500
SIS A 41,880 41,880 0
201 Y2 1,880 11,880 0
01 AR eIl 11,880 11,880 0
OSS&0IS YUYS X & 990, 00024 * 122 11,880
307 eI2H0IE 30,000 30,000 0
02 PIAMBE 30,000 30,000 0
OSS&0rs 24| K& 30,000, 0002 30,000
HIZ RS DX 10,000 26,500 16,500
307 BI2HOI 10,000 10,000 0
02 PIAMBE 10,000 10,000 0
OSS& ofnl2lzt HRUE 2ZN
10,000, 0002 0,000
SWENRLS 22 1,000 1,000 0
201 Lpr2y| 1,000 1,000 0
01 ALR eIt 1,000 1,000 0
OB DEXNSLS B2 ANs+Y L BYLa
2 1,000,002 1,000
HMDEAL QITRtEE 10,000 0 10,000
308 XX EHHISOI & 10,000 0 10,000
05 REXIEHH 223 10,000 0 10,000
OBMDTeALNAY SH2I2LS
10,000, 0002! 10,000
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fAM: SR
M #H2HAL(E2D)
Sl QIR YU (ER_AISD) chel MR
SN C(BH) - NRAY - HES Aro Soe HlmE2
HY2AHU(BL) 7,344,100 7,881,980 A537,880
QIARIH(ERU_ASZ) 7,174,065 7,711,530 AB37,465
AEHAL(ZERU_ABZ) 3,395,551 4,164,148 AT68,597
101 Q14| 3,395,551 4,164,148 AT68,597
01 2 150,000 150,000 0
O=2& JusE®d =% 50,000,000 *3H 150,000
03 RIHAZZ2NHE > 3,245,551 4,014,148 AT68,597
OHLEE 2E2 9,000,000& «12& 108,000
OWIRYEE Y2 108,000, 0002 *6. 55% 7,074
O=odz 23 13,500,000& 123 162,000
OnsEsgs 4,162,000,000& *0.0175 72,835
Ot EE = 3,550,000,000& +0.02722 96,631
O&AZ 24,000,000& =5 120,000
OJEa & JI88 22(B8=2) 19,749
=] 734,800& x1E« 12 8,818
-&03 8,818,0002%1/3 2,940
-Jtat3a 8,818,000 *12% 1,059
-ANzZtel =% 4,220 1. 5% 1B *22 A 2412 1,672
-SYI2Fg 50,6403 x1H 2«12 1,216
=54 33,7603 x1H «52=F 1,756
-AXRSFIE 33,7603 x1H x18 608
—H Mg AlY| 80,0003 x1H«12& 960
ST | 60,0003 x1H+12& 720
OHIMA BINZER(E521) 38,938
-Jleg 734,800 x2F « 12 17,636
-&0= 17,636,000 *1/3 5,879
-Jtat 32 17,636,000& *10% 1,764
-AZ2tel =g 4,220 1. 5x2H x22 A 2t % 12 3,343
-5Y2RE 50,6403 x2H 2L+ 12 2,431
-AXlRasit=g 33,7603 x2H 15 1,013
=5 33,7603 x2H x52= 3,512
—H M ZAlY| 80,0003 x2H x12& 1,920
WS E A 60,0003 x2H x12& 1,440
Oolad(s21) 26,790
-Jleas 987,580& x1H «12& 11,851
-&0= 11,851,000& *1/3 3,951
-Jtet=a 11,851,000& *10% 1,186
A2kl = 5,670 *1.5x1G*22A1 2tx 12 2,246
-F222H 68,0803 »1H 2 x 123 1,634
-AXlRmaste=g 45,4003 x 1+ 15 681
=54 45,4003 »1H »52= 2,361
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S ELD
B MESAAL(Z2D)
Cel: QIERIH(ERU_ASH) (9 E2
SA - EH . G(3H) - NRAY - B 0 4 04 S e HImE 2
0l &t
-2l &=l 100,000& x1H «12& 1,200
-Z M Z A 80,0003 x1¥+12& 960
-WESE A 60,0003 x1E+12& 720
Quetsl SAEX(SEXAD 19,505
-JleEs 734,8003 x1E « 12 8,818
-&03 8,818,0002 *1/3 2,940
-Jtat3 8,818,000 *10% 882
-AlI2Ee| =S 4,220 1. 5% 1B *22 Al 2H+ 12 1,672
-SYI2Rg 50,6403 x1H+2Ux 12 1,216
-AXRESFIE 33,7603 x1E 16 541
=5 33,7603 x1H «52=F 1,756
-Zagaldl 80,000&x1H~12& 960
-wWEE LI 60,0003 x 1+ 12& 720
OAL22s QA2 (A=) 19,505
=] 734,800 x1E+12& 8,818
-&02 8,818,0002%1/3 2,940
-Jtat 32 8,818,000& *10% 882
-AZ2hel =g 4,220 1. 5% 1H*22 A 2+ 12 1,672
-FY2R2Y 50,6403 x1H 2«12 1,216
-AXRESFIotE 33,7603 x18 x16Y 541
=54 33,7603 x1H «52=F 1,756
-H Mg AlY| 80,0003 x1HE«12& 960
-—wEs2 Il 60,0003 x1H~12& 720
OAQ4r2te] & HE (2BSM=1) 58,405
-Jl2g 734,800 x3H « 12 26,453
-&0= 26,453,000& %1/3 8,818
-Jtat 3 26,453,000 *10% 2,646
-AzZ2tel =g 4,220 1. 5x3H x22 A 2tx 12 5,014
-5e2RE 50,6403 x3H x2 U+ 12& 3,647
-AXlRasite=g 33,7603 *x3H 15 1,520
=54 33,7603 x3H x52= 5,267
- g Al 80,0003 x3E x12& 2,880
-~ S2 | 60,0003 x3H x12& 2,160
ogt22 22| (A4 19,505
-JlEs 734,800 x1H«12& 8,818
-&3 8,818,000& *1/3 2,940
A= 8,818,000 *10% 882
-ANzZtel =< 4,220 1 . 5% 1Hx22 A 2tx 12 1,672
-F222H 50,6403 x 15«2+ 12 1,216
-AXmaste=d 33,7602 x1Hx16L 541
=54 33,760& 1 x52== 1,756
- g aldl 80,0003 18 +12& 960
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fA: SR
W HHSAAL(Z2D)
Cel: QIERIH(ERU_ASH) (ctel: &
SN B SRA(SIH) - MBAY - BAS 0l &k 24 B HlnE2
04l & 2
-ns 22| 60,0003 x1H 123 720
OMg=eidt3 At (M=22) 19,745
-2 734,800 x1H+12& 8,818
-0 8,818,000% x1/3 2,940
A= 8,818,000& *10% 882
-AZ2tel =% 4,2203 1. 5% 1H#22 A1 2tx 12 1,672
-5422Y 50,6403 x1H 22«12 1,216
-AxEeS Sit=E 33,7603 x1H 16 541
] 33,7603 1 «52== 1,756
- Mg Al 80,000 x1H«12& 960
-nsS8 x| 80,000 x1H «12& 960
O A2Z2] (33 1t) 73,129
-Jl=g 734,800 x4 H « 12 35,271
-&0= 35,271,000& %1/3 11,757
-t = 35,271,000& *10% 3,528
“Al2tel =St 4,220 1. 5% 1B 22 A1 2t+ 123 1,672
5222 50,6403 x4 «22U 122 4,862
-AXsasit=E 33,7603 x4 B 17 2,296
=5 33,7603 »4H «52=F 7,023
—ZUZ A 80,0003 x4H 12& 3,840
TR L 60,000 x4 H 122 2,880
O] 2el (3 A ) 23,196
-Jl=2s 889,020& x1H «12& 10,669
-a0= 10,669,000& *1/3 3,557
AR 10,669, 000& *10% 1,067
A2kl =G 5,100 1.5+ 1H+22A| 2++12E 2,020
-RYLIZRd 61,2003 x1H+2U+ 123 1,469
PN S =) S 40,800 x1H «152 612
=5 40,8003 »1H «52== 2,122
- MG A 80,0003 x1H«12& 960
-nEE 2| 60,0003 x1E*12& 720
OSEUIAAA2IEE T (LS AtD) 19,682
-JlEs 734,800 x1H~ 123 8,818
-& 03 8,818,0002 *1/3 2,940
A=) 8,818,000& *12% 1,059
A2l =G 4,2202 %1 . 5% 1H*22 A1 2tx 128 1,672
-FE22=H 50,6402 x1H 2L 128 1,216
-Axsasit=g 33,760 x1H+162 541
=54 33,7603 x52== 1,756
- M S AH| 80,0003 x1H«12& 960
-wES 22| 60,0003 x1E«12& 720
OQIotH =220 (21 S A 19,682
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fA: SR
HH: HSEAY (SR
Cel: QIERIH(ERU_ASH)
SN HH G (EH) - MBAY - BYS Ak e
Ofl &4 4
-Jles 734,8003 x1H « 122 8,818
-&0= 8,818,000&*1/3 2,940
-Jtet=g 8,818,000& *12% 1,059
—A2H2l =St 4,220 1. 5% 1B 22 A 2tx 123 1,672
S22 50,6403 x 15«2+ 12 1,216
SN IS =) S 33,7603 x1H 16 541
=54 33,7603 x 18«52 1,756
—ZHS A 80,0003 x1HE«12& 960
-wE8 & 60,0002 x1H« 122 720
OXNHZEH & HogR2(UAS AL 37,242
-Jl2g 734,800 x2F 12 17,636
-&=3 17,636,000 *1/3 5,879
A2+l =G 4,220 %1 . 5x2H %22 A 2tx 128 3,343
-FYZ2R=H 50,6402 x2H 2L x 128 2,431
-AXRESFIE 33,7603 x2H 16 1,081
=54 33,7603 x2H «52F 3,512
-H Mg AlY| 80,0003 x2H x12& 1,920
-ws 22| 60,0003 x2H x12& 1,440
O32 2 2&4H 22 S (sg=X1) 87,772
g 822,970& x4 H «12& 39,503
-&0= 39,502,560&*1/3 13,168
-Jtat 32 39,502,560 *12% 4,741
-AZ2hel=g 4, 7203 1. 5x4Hx22 A 2tx 128 7,477
-5422Y 56,6403 *4H 2L 122 5,438
-AXtsasit=g 37,7603 x4 H «19L 2,870
=54 37,7603 x4H x52F 7,855
- Az A 80,000 x»4H «12& 3,840
-Es2 2| 60,000 x»4H «12& 2,880
OEzE=s (&) 135,564
-Jles 987,580 x5H 12 59,255
- 0= 59,255,000 *1/3 19,752
-Jtet=a 59,255,000 * 12% 7,111
-ANzZtel =< 6,020 1.5+x5H +22A| 2+« 12& 11,920
222+ 72,240 x5 B 2L 128 8,669
-AXtsast=E 48,1603 x5H «18& 4,335
-5 48,1603 x5 H «52=F 12,522
“AHEHASY 60,0003 x5F x12& 3,600
- M ZAlY| 80,000 x5 H 128 4,800
-Es2 2| 60,000 x5H «12& 3,600
O=ots el (=2) 31,330
-Jl=g 1,156, 7603 x1E <123 13,882
-&0= 13,882,000 *1/3 4,628
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M B2
B WH2AHY (B2
CHol: Ol 2 AH(S2T_AE)
= e e = . e
SA B HRA(SH) - MRAY - B Abod Sl e
A=) 13,882, 000& *12% 1,666
-2l =St 6,990 *1.5%1H *22A| 2t+ 12 2,769
-FL2RE 83,880 x1H*x2L 128 2,014
-AXRSFI=E 55,920 x1H 192 1,063
T4 55,9203 1 «52== 2,908
s B PR ROy 60,0003 x1H«12& 720
- MG A 80,0003 x1H«12& 960
-wE2 | 60,0003 x1E*12& 720
OZNsFHl (A51) 59,238
-Jl2= 734,800& 3~ 123 26,453
-& 03 26,453,000& *1/3 8,818
A=) 26,453,000 *12% 3,175
A2+l =G 4,220 %1 . 5x3H *22 A1 2tx 128 5,014
e ] 50,6402 x3H x2L x 128 3,647
-AXRSF =g 33,760 x3H 182 1,824
-5 33,7603 x3H 52 5,267
- A g A 80,000 x3H x12& 2,880
-ws 22| 60,0003 x3E 123 2,160
OBt S sl E B2 (SEHMK D) 19,505
-Jl2=s 734,800 x1H+12& 8,818
- 0= 8,818,000% x1/3 2,940
AR 8,818,000& *10% 882
-AZ2tel =% 4,2203 1. 5% 1 #22 A1 2tx 122 1,672
5222+ 50,6403 x1H 22«12 1,216
xR IR EY 33,7602 12« 162 541
=R 33,7603 x1H «52== 1,756
- Az A 80,0003 x1H~12& 960
-Es2 2| 60,000 x1H «12& 720
ORIJAHAZZ2 XN BEFIH| 36,000,000& 36,000
OFAB2 22X 1=y 1,000
-of 28= 100,000& *5H 500
-5 28= 100,000& «5H 500
OZ 0|t (B#ZES1) 1,913,529
-Jl2=s 1,150,000& »49H 12 676,200
-&0= 264,600
| 1,800,000 *49H *43| *50% 176,400
d2+E 1,800,000 *49H *23| *50% 88,200
-l = chay| 1,800, 0003 *49H «250% 220,500
Al 2tel =% 13,0003 »49H 10 <128 76,440
-F€22+H 52,2003 »49H «2 U » 12 61,388
-AXtsaEst=E 60,0003 »49E 20 58,800
AT 70,0003 »49E 12 41,160
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fAM: SR
B #H2ITY(S2D)
Chel: CIARHH|(SRU_ASZ) P2
A BB O(B) - NEAY - BAS sy S st
0l &4 08
SURY 90,0003 »49H «12& 52,920
- M+ (S=ZHI) 50,0003 49 « 12 29,400
-BrE g 50,000& =401 Bt«12& 2,400
s 42,336
i < Kt 40,000 *49% «0. 80+ 12& 18,816
JIEFILE 20,0003 x49H 2,00+ 123 23,520
-ANHEEHIE R+ 15,092
Elge 50,0003 »49H «25%*4 3| 2,450
E=)=lg 430,000& 49 » 15%*4 3] 12,642
—ZUZ A 160,000 #4998 » 123 94,080
=JtH 2 &l 110,000 «49Y » 123 64,680
-FEF Ot 1,800,000 *49H *120% 105,840
-wWEE LI 140,000 *49H x 123 82,320
=%y Y ALK A HASEZ A
2,000,000& 2,000
-1l =l 23,373
- RH(1g/H) 60,0003 »49H 2,940
R S EN)] 30,0003 x49H 1,470
s (ot=s,at/6th)
140,000 24 «49H 13,720
S EYs(1g/d 53,0002 *49H 2,597
Sy 20,0003 49 980
- &2 24,0003 x49% 1,176
- HHEA 10,0003 »49Y 490
ZHEOIAHN(BRU_AISE) 3,778,514 3,547,382 231,132
303 ZAZ 1,384,000 1,371,000 13,000
02 4tz 1,384,000 1,371,000 13,000
Oda¢H= 1,384,000
- BHA 1,353,000,000& 1,353,000
-HEZE 31,000,000& 31,000
304 HRE=S 2,394,514 2,136,382 258,132
01 AZ2RE3 1,729,642 1,507,702 221,940
(@)= == 738,123,000& 738,123
Of&Y 23 583,943,000& 583,943
OBHd3 371,000,000 371,000
ON2s 23 22,033,501,000& *0. 166% 36,576
02 FUHLEES 664,872 628,680 36,192
OHLEE 22 52,000,000& x12& 624,000
O/INRYEE 2Y3 624,000, 0002 *6.55% 40,872
|2HL(E2D_AED) 80,415 79,920 495
JI2dH(BRU_ANEBZ) 80,415 79,920 495
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SN
X XH .
S Tt

el

\N|

02 Of
M 0x 40

oY Ho &

HHEH(BRW)
H(ZERU_ASZ)

KBS (BH) - HSAY - Bae Aol Soe HRZ2
203 LR F=&H| 80,415 79,920 495
01 J|22I YR =&Y 58,300 58,300 0
OJIA2HERFAY| 58,300,000& 58,300
02 HRIAHRE=ZEY| 22,115 21,620 495
OF AP RFEH|
(80,0002 *100H )+(60, 000 200 )+(45,000 22,115
[Ax47H)
|[2ZH(B2) 89,620 90,530 A910
[ 2ZH(52D) 89,620 90,530 A910
201 dEt24d| 24,300 25,110 A810
01 AP Zeltl 24,300 25,110 N810
ORNSYE AR 22l 24,300,000 24,300
202 04t 57,600 59,520 A 1,920
01 =2WdbI 57,600 59,520 A 1,920
OJ2g4=80id(30Y) 57,600,000& 57,600
203 YPREZH| 4,200 4,200 0
04 2A2IERFEHI 4,200 4,200 0
OBNSIEH2E=XH|(302!0l0l)
350,000& x12& 4,200
405 KHAHFE S 3,520 1,700 1,820
01 XM =2EFHSHI 3,520 1,700 1,820
OXAE a4t 250, 000& =44 1,000
OXEAE oKt 180, 0003 *4JH 720
O2 A 800, 000& = 1CH 800
Oozerzelyd 1,000,000& 1,000
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